CLASS X 

Physics Paper I

Time allowed:  40 minutes                                                              Marks 25
INSTRUCTIONS

1. Read each question carefully.

2. Answer the questions on the separate answer sheet provided. Do NOT write your answers on the question paper.

3. There are 30 answer numbers on the answer sheet. Use answer numbers 1 to 25 only.

4. In each question there are four choices A, B, C, and D. Choose ONE. On the answer grid black out the box for your choice with a pencil as shown below.

[image: image1.emf]
5. If you want to change your answer, ERASE the first answer completely with a rubber, before blacking out a new box.

6. Do NOT write anything in the answer grid. The computer only records what is in the boxes.

1). The Time taken by a pendulum to swing from its position of ‘X’ to its maximum displacement ’Y’ is 1.5sec. What is the period of pendulum?
a). 1.5 sec


b). 3.0 sec
c). 4.5 sec


d). 6.0 sec
2). The graph is representing the water wave which one pair is correct for the amplitude &wave length.
        Amplitude in cm


Wavelength in cm

  a). 

0.6





20

  b).  

0.6





40
  c). 

1.2





40

  d). 

1.2





60
3).    A wooden bar is creating the waves in a ripple tank if the frequency of the waves is 6 hz & the wavelength is 2cm then the speed of the waves will be,
a). 0.02 m/s



b) 012m/s

c). 3.0 m/s



d). 6.0m/s
4). All electromagnetic waves have the same, 
a). Speed in Vacuum  
  
b). Frequency in vacuum

c). Speed in a given medium     
d). Frequency in a given medium.
5). A compression in a sound wave is considered as,   
a). A region where the molecules are very close to each other

b). A region where the molecules are crowded.

c). Where the group of molecules vibrate to produce sound.

d). A region where the wave front causes air molecules to vibrate.

6).   Standing in a long corridor ,10m in front of a wall a person makes a sharp tap on the floor if the speed of the sound in air is 340m/s, how long it will take to hear an Echo?
a).
0.015 sec  


b). 
0.029 sec

c). 
0.059 sec



d). 
17.0 sec
7).    If  02 Joules of energy is required to transfer 01 coulomb of charge between the two points, then the potential difference between  the points will be,
a). 1 volt  
b) 2 volts  
c) 4 volts  
d) 6 volts
8).     The substance which is used as a medium between the plates of a capacitor is called,
a). Conductor    
b). Semi-conductor  

c). Di-electric   
d). Electrolyte

9).   One Mega Ohms = _____________ Ohms
a) 5000 Ohms     


 b) 1000 Ohms    

 c) 10, 000, 00 Ohms   

 d) 100 Ohms
10).   In an electric field a positive charge of 15 Coulb experiences a Force of 6N , the intensity of electric field will be,

a)                     
b) zero           
c)  double 

d) 200 N/C
11).   The distance of the object from pole of the spherical mirror is ______________
a) f          
b) q         
c)  p         
d) R

12).   A normal human eye can see clearly up to a distance of _________  from  the eye.
a) 30                 
 b) 25              
c) 40            
d) 12

13). The velocity of the bob of simple pendulum is ___________ at mean position.
a) maximum   
b) zero    
c) half       
d) double 
14).   _____________ is the characteristic of musical sound due to which we can distinguish between a shrill & grave sound.
a) Intensity    
b) quality    
c) Loudness  
d) pitch

15). Diameter of Spherical mirror is called as ______________
a) Focal Length 

         
b) Curvature of Mirror  



c) Radius of Curvature    


d) Principle Focus

16). The critical angle for water is _________.
a) 42    
 b)  49      
c) 59       
d) 51

17).   If the area of a Vibrating body is decreased then the Loudness of sound will   

         be:
a)  Increased  
 b) Decreased    
c) No Change  
d) None of these

18). Light rays parallel to Principle axis after refraction from a convex lens 
       Converge to a point which is called as,
a) Focal length 
b) radius of Lens  
c) Principle Focus 
 d) Pole

19). The nature of X-rays is:
a) Mechanical       
b) Stationary      
c) Electromagnetic 
d)  Longitudinal
20). The focal length of is 50cm.
a) 2 diopter   
b) 100 diopter   
 c) 0.5 diopter   
d) 10 diopter

21). The number of electrons present in one Coulomb of charge is 
a) 6.25 x 1018  


b) 62.5 x 1018  


c) 625 x 1018   

 
d) 6.125 x 1018
22). When two Capacitors are 4 micro farad & 6 micro farad are connected in series then the equivalent capacitance will be 
a). 2.4 micro farad   
b). 3.4 micro farad  
c) 4.4 micro farad  
d). 5.4 micro farad

23). Twice the distance between two successive nodes is
a). Amplitude   
b). wave Length     
c) displacement 
d) vibration
24). If the frequency of sound is 256HZ then its time period is
a)  3.9 x 10-3
b) 39 x 103          
c)  3.9 x 1010    
d) 39 x 1019
25). If an Object is placed in between the Focus & the pole of a concave mirror then the image formed will be,

a)  Real & Erect    
b) Virtual & Inverted      
c) Virtual & Erect    
d) Real & Inverted.

